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GENERAL INSTRUCTION about Exams:
1. Weeff |duem e T U R AMiG Afarid: ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. 91 e &R A 2 |

All the questions are compulsory.

3. U U BT IR & 5 IR gRABT H 2 ford |

Write the answer to each question in the given answer book only.

4. TS ol H AR @Ue 8, I Tl & IR Yeb A1 & ford |

For questions having more than one part, the answers to those parts are to be written together in continuity.
5. U3 BT IR o | Yd U= &1 dhAid a9y ford |

Write down the serial number of the question before attempting it.

6. U UF & &1 T SISl MR # Bl HHR & FfC /R / TR 84 WR f2=iT Ay
D U BT Bl sl A

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of
Hindi version should be treated valid.

7. %9 HHib 14 F 18 ¥ <R$ by 2|

There are internal choices in Question No. 14 to18 .



Gug — I
SECTION- A
1. ggfdbodTcH® T2
(= xvin): /91 o2l & IR BT Fel f[ddbed a9 dx IR gRAST 4§ faIRag |

Multiple Choice Questions

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it
in given answers book.

(1) IRIETHIN BT YSRIT fhar ST & — Y
(61) = LIS (@) =7 ETEgIe

(A) g Eiferad @) S

Pollen grains are stored in -

(A) Liquid Nitrogen (B) Liquid Hydrogen

(C) Liquid Helium (D) water

(i) 8 16 HRHGWGUSI dTcl YOT BT HEd & — Ys
SSRGSl (@) Tz

() Aroet (]) SUTIH § W BIs el

The embryo having 8-16 blastomeres is called -

(A) Blastula (B) Gastrula

(C) Morula (D) None of the above

(ifi) TRY TS O DI FEID AR © — Ys
(&) geprera (3) dreee Tf

(4) IearRISA U (@) SugH

Accessory glands of the male reproductive system are -

(A) Seminal vesicle (B) Prostate gland

(C) bulbous urethra gland (D) All of above

(iv) FITPI AT FH1U DI AR WRBR A I Wi B o — Yo
(@1) 1972 (@) 1980

(|) 1971 (2)1975

Medical termination of pregnancy was legalised in India -

(A) 1972 (B) 1980

(c) 1971 (D) 1975

(v) TEAT TTeg T Ufaared fhar — Yo

(37) Sy e @) A 9



(). 1. wa. "1 (g) St Hosd
The term 'Linkage' was coined by -

(A) W. Sutton (B) T. Boveri

(C) T.H. Morgan (D) G. mendal

(vi) SN ST 1 G e ot S HBA 1 TG HBA 2 ERT ff3a =i g,

URE AT IR g7 Sl & —

(@1) 11 @) 12

(|) 16 () 9

Thalasemia is controlled by two closely linked genes HBAI and HBA2 present on chromosome -
(A) 11 (B) 12

(C) 16 (D)9

(vii) Y TORIE H S @1 T g

(1) 241 (@) 230

(|) 231 () 240

Number of genes present on Y chromosome

(A) 241 (B) 230

(C) 231 (D) 240

(viii) m-RNA &T daci! ST RNA BTN 1| §RT 3Tciad il & —
(37) t-RNA () sn-RNA

(9) 55 RNA () hn-RNA

Precurser of mRNA transcribed by RNA Polymerase Il is -

(A) t-RNA (B) Sn-RNA

(C) 55 RNA (D) hn-RNA

(ix) BT Bfafera &1 fearfy emem off —

(31) 900— 1000 s () 1300— 1400 e
(9) 650— 800 i (&) 500— 600%H

The brain capacities of Homo habilis were -

(A) 900— 1000 C C (B) 1300— 1400 C C
(C) 650— 800 C C (D) 500— 600 C C
(x) Verot! &1 Hefdrq geErer & —

(37) 1gE (@) 1gD

() 1gG @) IgA



Allergy related antibody is -

(A) IgE (B) IgD

(C) 1gG (D) IgA

(xi) HARAT IAT BT ITDHRD & —

(31) ATHITTAT TIHI (@) oA
(%) WedIed A (<) e aTERE

The Causative agent of malaria is -

(A) Salmonella typhi

(B) Plasmodium

(C) Streptococcus Pneumoniae (D) Rhinovirus

(xii) f=iferRaa # & for USTIgH &1 WANT b aifedrell A U@l gel # fhar Siar & —

@1) faeafore
GICIEEE

Which of the following enzymes is used to remove clots from the blood vessels -

(A) Pectinases

(C) Lipase

(xiii) FfIRad # | D9 ITA-I1I HHHT S 6l & —

(o1) USHATSRA
(%) grgpreH

RIS
() ILePBIgSl

(B) Proteases

(D) Streptokinase

(C)REER SICIERS!
(3) e gRTUR

Which of the following causes respiratory infection

(A) Adenovirus
(C) Trichoderma

(B) Baculovirus

(D) Bacillus Thuringiensis

(xiv) DNAI f¥aa It & dle dTelT USiigH § —

(a1) prefesiat
(%) Segerst

(4) ergAISSH

(&) ufcree qusl gfdelus

An enzyme that Cuts DNA at specific sites-

(A) Chitinase
(C) Cellulase

(xv) dTerE ARRTTHE gRT MG AIEE dIel & 9R" H 9e™ § —

(31) =™
(@) Srex=

The protein produced by bacillus thuringiensis is capable of killing insects -

(A) Lepidopterans
(C) Dipterans

(B) Lysozyme

(D) Restriction endo nuclease

(d) DIferar<s=
() Sug w

(B) Coleopterans

(D) all of above
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(xvi) foTaRUeId 3TOFT STaw @b QRT BT B—
(31) =feT 3R HAwell (@) A= SR =ren
(%) 7ol 3R &l (T) Far 3R Tef

Liver fluke completes its life cycle in -

(A) Snail and fish (B) human and Snail
(C) fish and Whale (D) Dog and bird

(xvii) TnT <aTer sfgen H fr=foRad & 9 waifee Gea1 faaa! 8l § 2
(31) ScUTEH (@) urafAe STHRHT

(@) fe<irae SUHRHT (]) JuEcH

Which of the following has the highest number in food chain ?

(A) Producer (B) Primary Consumer

(C) Secondary Consumer (D) De Composer

(xviii) AR H Hot o STg—fafderar gic wWic &3 g —
(1) 34 @) 30

(|) 50 (?) 20

How many biodiversity Hot Spots regions are there in the world -
(A) 34 (B) 30

(C) 50 (C) 20

2. Reh Tl @1 gfd I =— (1 9 X)
Fill In the blanks : -

() U 91 UF 9 1fde o o SuRefq &l ... aﬁﬁ%‘*l

The presence of more than one embryo in a Seed is Called .................

(u)ﬂ{vTaﬁ?WEMﬁ%rwﬁWaﬂﬁm?ﬁwaﬁ ................. HEd T |

The structure that creates vascular contact between fetus and the uterus is called ............

Typhoid fever can be confirmed by ................. test.

(iv) TaTO] HhfHT BIRIBI ... IMHh UIEIH BT TG BT © |

Virus infected cells secrete a protein called ............... .

I RIS, Hict U Gfurel TR 89l HRd 2 |
................... Pathogens attack, insects and arthropods .
(Vi) DNA GUST BT oo -l W 3Tl fhar Srar 2 |

DNA segments are separated by ......ccccceeeeeennnes technique .
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(Vi) AT ST o BT ITINT THIET & e o foar siar 21

The Human Protein........ccccccveeeeeennnn. is used in the diagnosis of emphysema.

VLI P U4l AT Bad Bl AT Hram 2 |

........................ A b controls Corn borer.

(3 [ T RG] UIET & Sl | 918 UTeul UR gy Rl o |
......................... a parasitic plant that is commonly growing on hedge plants.

(x) PaPD Td Id PIC UGUAT DI TS D AT oo e € |

....................... are association between fungl and the roots of higher plants.

3. JAfITgRIAS U9 : (1 9 X)
(1 el & SR TS Ieq AT U Ufkh H SIRIY)

Very Short Answer type Questions :
(Answer the following question in one word or one line)

(i) T fe @ea 87

What is dormancy?

(i) @ (PraRgH) fod ®ed g7

What is Colostrum ?

(iii) Teref Fpvor fhd ded 27

What is Test cross ?

(iv) SMIaiRIemar &1 Ja1 Rigid & &7

What is Central dogma theory of inheritance ?

(v) AESTICAT & S T AT 82

What do you understand by homology ?

(vi) fPT Pad B gRT WfeT BT ARG WX TR IATe fhay Sdr 87
Statin is produce on commercial Scale by which fungus ?

(i) fp=1 91T & gRT IR &1 fEior giar 27

Which gases are used to produce biogas ?

(viii) STATITSNE & 1Y T g9 &7

What do you understand by biopiracy ?

(xi) TEATRTAT BT IRETT <0 §T BT U SETER9T SIRT |
Define commensalism and give one example.

(x) TIITT HRET0T b g & 2

What is In situ conservation ?

Yo

Yo

Yo

Yo



grs — ¢
SECTION-B

RIS Ued — (IR FIAT o9 50 ITeq)

Short answer type questions - (Answer limit approximately 50 words)

4. F TG VSO BT JIRET 5907 DI |
Give a diagrammatic representation of human oogenesis.

5. SeddyT U °rdd foriT fHuifRor ufthar 8, S 4R <o # fufad 2|

I I8 ATGLID BIAT ARG ?
Amniocentesis for sex determination is banned in our country. Is this ban necessary ?
6. gl TAfhROT BT ITERY Afed FHSU |
Explain adaptive radiation with an example.
7. IR |IF B AHIfhd =F a9 |
Draw a labelled diagram of biogas plant.
8. 9141 Ruaex & wrimomel! forfeay |
Write the working mechanism of bioreactor.
9.RNA UGDNA H BIg oF iR faalRau |
Write any three differences between RNA and DNA .

10. IMTAIRIH FUMART HHaAl & TG DA o™ daisy |

State three advantages of production of genetically modified crops .

11. oifiTp PpUC T B2 ISR AlRd AHSNSU |

What is sexual deceit ? Explain with an.example.

12. I Sidl & A9 ST %A H IRy f5T9H Tap Sitg g &l @1ar & defl U

U ST Dl AT B T+ &9 | A 3(AH) =)o 81

Write the names of terrestrial organism in the order in which one organism eats the other and

establish a chain which has at least three steps.

13. UfAH JUaT &I & ? S| FREV H T YHBT © ?

What are sacred groves ? What is their role in conservation ?
Yrsg — 9
SECTION-C

STISTRIAD T3 — (STR AT 9T 100 1)

Long answer type questions - (Answer limit approximately 100 words)

14. IRITOT A Pped 8?7 I8 fhd THR &7 8idT 27 A9SISU |

What is Pollination? How many types are there? Explain.

1Y%

1Y%

1Y%

1%

1Y%

1Y%

1%

1%

1%

1%



3AdT/OR
IO b wEd 87 IaH ded H 93 SUART forfay |
What is called Apomixis ? Write its uses in the present Context.

15. fH=21 Q1 AfeivT A @it ARl & 9™ foRgdR 396 AeT0ll BT Ioold BT | 3

Write the name of any two non-sex chromosomal genetic disorders and mention their symptoms.

3127dT/OR
geMgell fageiyor /7 8 ? I8 fAveivor fby yeR Suarfi g ?

What is Pedigree analysis ? Suggest how such an analysis can be useful ?

16.Ud UTRReIfdd o & ol Yarg &1 9o B | 3

Give an account of energy flow in an ecosystem.

31IdT/OR
TRRRE dF & TcHl B AT DI |
Describe the components of an ecosystem.
grsg — ¢
SECTION- D

faaT® Ued — (STR ML ST 250 I7<q)

Essay Type Questions - (Answer limit approximately 250 words)

17.91¢84 Qd fohdp gRT QU U fEqpusierd pNA AlSe @1 a1 &1 AieF quie HIfY | 4

Describe the structure of the double helix DNA model given by Watson and Crick.

312TdT/0R
JhRANEH DIRTHEIN H DNA BUSH DI YD B = §RT FHEY |

Explain the packaging of DNA helix in eukaryotic cell with a diagram.

18. Uchlald /$79 @ §RI 81 dTal EIfNhRE U9 913V | 4

Explain the harmful effects of alcohol or drugs.

3AAdT/OR

Uehlalel /70 & HIANT Bl AHAT AT FRIFT & Iu qarsy |

Suggest measures to prevent and control the use of alcohol or drugs.



